Name: Date:

Teacher: Class:

Multiplication 308

Where do bunnies go to dance? A hare ball.

Multiply these numbers. LOTS OF
Example: 3LOTSOF4=12 3x4=12

L 7x5= 18. 9x5= % 9x4=
2 gx73= 19. 4x5= % 6x5=
3. 10x5= 20. 10 x3 = 3. 8x3=
4 8gx4= _____ﬂ-6x5= 8. B x4=
5. §x3= 2. §x4= ¥ 9 x3=
6. 2x4-= 8. 3x5= 0. 7 x4 =
7. 9x3= 4. 5 x5= 4l 4 x5=
8 10x5= 5 10x 5= % 3x5=
% 10x5= 26. 2 x3= - 10x5=
0. §x5= 27. 6 x5 = 4. 3 x3 =
1. gx 3= 28. §x5= 4. 1 x4 =
2. 7x3= 29. 3x3= 4. 1 x4 =
13. 3x3= 3. 1 x3= 47. 1 x4 =
14 7 x4 = 3. 9x4= 48. 2 x5 =
15. 10x5 = 2. gx4= 49. 1 x3=
6. 2 x 3= 3. 1x5= 0. 5 x5 =
7. 8x5= M T x3=
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Answer Key

Date:

Teacher:

Class:

Multiplication 308

Where do bunnies go to dance? A hare ball.

Multiply these numbers. LOTS OF

Example: 3LOTSOF4=12 3x4=12
L 7x5=35 18 9 x5=45 % 9x4=36
2 6x3=18 194 x5=20 %. 6x5=30
3 10x5=50 20. 10 x3 =30 3. 8x3=24
4 8x4=32 2. 6x5=230 8. 5 x4=20
> 6x3=18 22. 8x4 =32 3% 9x3=27
6. 2x4=28 23 3x5=15 4. 7 x4 = 28
T 9x3=27 24 5 x5=25 4. 4 x5=20
8 10x5=50 2510 x5=150 42. 3x5=15
% 10 x5=50 6. 2x3=6 43 10x5=50
0. 5x5=25 2. 6 x5=30 4. 3x3=9
th 9x3=27 8. 6x5=230 4% 1x4=4
2. 7x3=21 29. 3x3=09 4. 1x4=4
13.-3x3=9 0. 1x3=3 4. 1x4=4
147 x4 =28 3. 9x4=36 48. 2 x5=10
1> 10x5=50 2. 6x4=24 49 1x3=3
6. 2x3=6 3B 1x5=5 0. 5 x5=25
178 x5=40 3. 7x3=21
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